Day 5 Task 2 Answers

Question Answer

a) Dora has 462 bricks.
b) Ron has 526 bricks.
c) Ron has the greater number of bricks.

There are more hundreds boxes and 500 is greater than 400, so 526 is greater than
462

a) 512
b) 720
c) 528
d) 300

Arnir
500 is greater than 300 so Amir's number must be greater.

Practical activity: use 8 pieces of base 10 to make different numbers and compare them
with their partner's numbers. They will make a range of numbers that have a digit total of 8

a) >

h) <

3 counters added to the right-hand place value chart to make the statement correct:
1 counter added to hundreds column if at least 1 counter added to tens colurmn;
or 2 ar 3 counters added to hundreds column.

604, 613, 622, 631 or 640




